nes on the remaining blank pages..

{é+igrs written eg, 42+8 = 59, will be treated as malpractice.
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Important Note : 1. On completing your answers, compulsorily draw diagonalg
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2. Any revealing of identification, appeal to evaluator and /or eq
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%
Sixth Semester B.E. Degree Ex ’ﬁx\r}@étlon, June/July 2018
Operatmg ’% Stems
\\)
Time: 3 hrs. AL & Max. Marks: 80
Note: Answer any FIVE full qu({si?sng‘ choosing one full question from each module.
\, Module-1

1 a. Define Operating Systeﬁf\\glth a neat diagram, explain the dual-mode operation of operating
system. <\\\\//> (06 Marks)

b. Explain the servmg(snf bperatmg system that are helpful for user and the system. (06 Marks)
c. Define the fo Llowm terms :

/

i) Vi achme
ii) Q“P\ stileduler
111‘)( ystem call
1\\/“) Sohtext switch. (04 Marks)/,
4 \
\\c; Q OR O Y
D (@&
2 Qa\ \\%’lth a neat diagram, explain the different states of a process. (Gfsgk’iarks)
XA\ b j Explain the layered approach of operating system structure, with supporting dia @rﬁ <

& (QOS Marks)

What is interprocess communication? Explain direct and indirect commumaatlon with
respect to message passing system.

(06 Marks)

(06 Marks)

ty. Calculate average waiting time and turn around

(06 Marks)
(04 Marks)

(06 Marks)
(05 Marks)
(05 Marks)

Module-2 l
Explain multithreading models, Also list the benefits of multlthl‘éé}ed programming.
Consider the following set of processes given in table @X\
Arrival Time Burst(TL e/
Processes Priority
(m sec) )

P 0 \q{) 4

P, 3 (O 0 i 2

P; 3 ol ) 6 6

Py <§\\\T‘ 4 3
Consider larger number as highest pri
time and draw Gantt chart fQ{ ? pféemptive priority scheduling and preemptive SJF
scheduling. \\\\\ /
Explain multiprocessor sched\Btng

2 © OR
What are the requl(pm;:'rﬁs to critical section problem? Explain Peterson’s solution to critical
section problem \\ >
Explain Dini g,-pmlbsophers problem with semaphores.
Explain thg: Syn! ,éx and schematic view of monitors.
/7
&
,\,//?&:2\/
N\ Y
\\ 1of2
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Module-3 P l,\\ &

5 a. Consider the following snapshot of a system \\\\
Allocation | QMax~ | Available
A B C;VA\\B ClA B C
Pol 0 0 Q2P0 0 411 0 2
i 1] os®l2 0 1
P, 1¥B55 |1 3 7
Py @53 2|8 4 2
N4 3|1 5 7
Find the need matrix and\czﬂculate safe sequence using Banker’s algorithm. Mention the
above system is safe \dt\ Qot dafe. (08 Marks)
b. What are the neces:«}@\ryi “conditions for deadlock? Explain different methods to recover from
deadlock. \\ (08 Marks)
<\“/\/ (’ ’\ OR
6 a. Whatis pa,,, g'f Explain paging hardware with translation look-aside buffer. (06 Marks)
b. Explam\t‘w\étructure of page table with respect to hierarchical paging. (06 Marks)
c. lecn ;he 5 memory partitions 100 KB, 500 KB, 200 KB, 300 KB and 600 KB, how each ot \
the. ﬁrst fit, best fit and worst fit algorithms place processes of 212 KB, 417 KB, 112KB arm\
\\\\\ N4géKB size. Which algorithm makes efficient use of memory? (04 Lxgérks)
( S> o \
//)Q §"a. What is a page fault? With a supporting d1ag1 am explain the steps involved in ga)&ﬁhng page
N fauli. @ =7 (06 Marks)
b. Consider the page reference string for a memory with three frames, ho\;w\many page faults
will occur for FIFO, LRU and optimal page replacement aloor(hms\ Which is most
efficient? <\(>’“,i,
Referencestring : (7 0 1 2 0 3 0 4 2 3 0 3 @\\\}\2 01 7 0 1]
\\ (06 Marks)
¢. Explain copy-on-write process in virtual memory. (QL (04 Marks)
OR 9 m)
8 a. What are the different allocation methods in disk? Bxblam in detail any two methods.
{' N (06 Marks)
b. List the different directory structure. hxplamQ\cychc — graph directory and tree structured
directory. N (07 Marks)
c. What is a file? Also list different file oge(ﬂ)}ons (03 Marks)
/, i\:!odulc—
9 a. List the different disk sched lmﬁ\\f?chmques explain any two scheduling, considering the
following disk queue requesfs
08, 183,37, 122, 14, 124,563 c‘ﬂ (06 Marks)
b. What is an access mafmx‘?q‘?.Xplam the different methods of implementing access matrix.
) (06 Marks)
¢. Explain bad — bld@k\)movery in disk. (04 Marks)
5 & b OR
10 a. Explam Ifiégh}sngn principle of Linux. (06 Marks)
b. Explam the’process management in Linux platform. (06 Marks)
c. Xpidin fhe interprocess communication mechanisms in Linux. (04 Marks)

~ X\ o
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